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Explanations and answers to select questions

Option (D) is the correct answer. The four adjectives are : my, daily, roasted and chilled. Possessive adjectives
in English (my) refer to the possessor and not to the thing possessed.

Option (C) is the correct answer. The correct spelling is : ‘Humorous’.

Option (B) is the correct answer. It is the same spelling for singular and plural.

Option (A) is the correct answer. Its homophone is : ‘Steel’.

Option (B) is the correct answer. The four syllables are : ‘In-tel-li-gence’.

Option (D) is the correct answer. The seven 4-lettered words are : Earl, Earn, Elan, Lane, Lean, Near and Real.
Option (D) is the correct answer. They are : Masculine, Feminine, Neuter and Common.

Option (A) is the correct answer. Its past tense is not formed by adding ‘ed’ at its end.

Option (C) is the correct answer. The action of ‘leaving’ takes place before the action of ‘reaching’, which is
expressed in simple past. Hence, past perfect for this action.

Option (D) is the correct answer. ‘the blind’ is a name in plural, meaning, ‘the people who are blind’, and
so takes a plural verb for that active voice.

Option (C) is the correct answer. For the first blank ‘the’ because a specific aeroplane, the one for return
journey; for the other two ‘a’, as the first syllables of those words produce a consonant sound as in ‘you’.
Option (B) is the correct answer. The four commas required are at as : Manoj, his wife and their two children,
like swimming, running, cycling and kite flying.

Option (D) is the correct answer. A tool used by a surgeon and that by a carpenter.

Option (B) is the correct answer. It is the only one that takes ‘an’ as its article.

Option (C) is the correct answer. Because the action is ‘a thought in process of completion’, not a completed
action as expressed in option (A).

Option (D) is the correct answer. See ‘went’ changed to ‘gone’.

Option (C) is the correct answer. The two homonyms are : ‘chest’ and ‘just’.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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